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The Code No. on the top of the question paper

should be written by the candidate on the front
page of the answer-book.

° U 97 F TV i@ JE@ &7 G Yeo, T F BHH
S7eq [
Before beginning to answer a question, its Serial
Number must be written.
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o Fuv-giasr & T 7 @l G/ 7 7 88/

Don’t leave blank page/pages in your answer-book.
o GurykdE & GRF FHF o s T A

SHT: SIARTRAFAT & i@ It fr@r FaT T #e)

Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o ghETE ST AT To FIT-YH YT ¥ [i@)
Candidates must write their Roll Number on the
question paper.

* U g7 F TGV a7 @ g7 I GvEd BT T [ JoT-0H
g7 7 @& &, qhar # U 6 Ty 7 g A aar
& TE AT T

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 69T -

General Instructions :

() @ 97 BT BN 81 HAF HIT B HF GGD WHT
TR T 8

All questions are to be attempted. Marks for
each question are indicated against it.

(i) 797 & 1 & 6 7% JgRHANT F97 81 Frid
q&T FTT YA Fae-greawT 7 forad &
Question Nos. 1 to 6 are multiple-choice

questions. Candidate have to write the
correct answer in their answer-book.
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(iii) 797 TE 18, 19 7 20 7 SIN% g IITH &

Internal choice is available in Question Nos.
18, 19 and 20.

1. Frefafed § & SE-9F d@ieT H Suaer 78 8 ¢ 1
(1) forfrar rgieRe
(@) g
(|) seEHE e
(@) v A

Which of the following is not a sub field of
Accounting ?

() Financial Accounting
(b) Book Keeping
(c) Management Accounting

(d) Cost Accounting

2. IR EET GaAT qE W AERG AR U &} S 8
T A &, W 1 T Bl 2 1
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If accounting information is based on facts and
it is verifiable by documents it has a quality of :

(@) Relevance

(b) Reliability

(c) Understandability
(d) Comparability

.Wﬁmﬁm%waﬁqmmw

fopa S 2

(&1) @ g W

(@) W= T W

(@) <FR geg e W g7 § @ S HH 8, W

(z) arefaemd 9@ W

According to convention of conservatism closing
stock is valued at :

(a) Cost Price

(b) receivable Price

(c) Cost price or receivable value whichever is
less

(d) Real value

fofed e g8 e ST € 1
(1) & a™ (@) @t

(|) st & () % =

Noting charges are ultimately born by :

(a) Drawer (b) Drawee

(c) Payee (d) Bank



5.

7.
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T ¥ HE-91 AIS P IU-IOTA B ? 1
(1) ge (w) sifsen
(|) emeye () S &

Which of the following are main subsystem of
AIS ?

(@) Input (b) Process
() Output (d) All of the above

feadlt vafa & Fr & @ &9-8 & &% W T S

g7 1
(31) o,1 @ 1,2
@ 2,0 &) 3,0

Which of the following two digits are used in
Binary System ?

@ 0,1 (b) 1,2

(c) 2,0 (d 3,0

frfafed faaeett & % Tam e TR ik - 2

3

(31) Tps g&TE @1 SfaT 9 10,000

(3) =% @ Frif e @1 wg gae 500
% foTQ weqd el fRar T

(|) @mwisr o fRar T % # BRI, TR 5,000
g 4 @ ferar

(3) s == 200
P.T.O.
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From the following particulars prepare Bank
Reconciliation Statement :

N

(a) Debit balance as per bank 10,000
column of the cash book

(b) Cheque issued but not 500
presented for payment

(c) Dividend received by bank but 5,000
not entered in the cash book

(d) Bank charges 200
8. FHAI T BN & ? AN F HE & THN FAW 2

What is Discount ? State the two types of
discount.

9.maﬁqﬁﬂﬁﬁm|mwﬁ%aﬁéﬁw
C{IEL

Define Depreciation. State any two reasons for
providing depreciation.

10. AMNE g2 AR THe g 7 R WL H| 2
Distingulsh between Trade Discount and Cash
Discount.

11. 1-4-2013 & X' 7 ZGEE 9w fean aifre G
Z 6,00,000. 31-3-2014 & IFH THRET T 8,00,000
AR FTRFT T 50,000 U Igd Sifew Teir X a¥ B
3N 8T @ & W< FH 2
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13.

14.

15.
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'X' started business on 1-4-2013 with a capital
of ¥ 6,00,000. On 31-3-2014 his assets were
% 8,00,000 and liabilities ¥ 50,000. Find out his
closing capital and profits earned during the
year.

FHGPA e IOl bl IRATIT H| 6 His &
SIEICIERIHK 2

Define Computerized Accounting System. Give
two advantages of this system.

FFGEY TOe & PiE a7 dmd AT 2

Give any three limitations of Computer System.

qe9e 1 B ? 99U B P Y B gqd 4

What is a Trial Balance ? State any four
functions of a Trial Balance.

frriferie erggfesat 1 gam &< 4
(1) ¥ 2,800 % IR 9 & foskg T2 | ferg fam

(2) ‘T’ F T 500 P S H GAW AR’ B @ A
F & B

(3) 3f® fEpg amwEll gw® & FA X 1,000 § @
gt 2|

(4) M & T 3,000 AT B PAOE {HAT WY IHH
QAT Sfge &Y A T

P.T.O.
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Rectify the following errors :

(1) A credit purchase of I 2,800 was passed
through the Sales Day Book.

(2) Sales to X' ¥ 500 were posted to Y's
account.

(3) Total of sales return day book was overcast
by X 1,000.

(4) R 3,000 paid to Ram for salary were debited
to his personal account.

e @ IOl SIR ‘T e’ & ofeX e 4
State the difference between 'Double Entry
System' and 'Accounts of Incomplete Records'.

1 S8, 2016 & 7 7 G H A g4, A TA
% 50,000 W &R 20% =AM g & I &7 37 i
% [T 3 AE & faw fomr o) 9 F @ier #
4 =R, 2016 & 39 fod & I &Y @ ™1 R
15% % alitieh 8¢ 9 &Y Al & R § /O @l
g 7 sfaftedr Sl 4
On 1st July, 2016 'A’ sold goods to 'B' of the list
price of ¥ 50,000 at 20% trade discount and on
the same day drew a bill on 'B' for the amount
due payable after three months. 'B' accepted the
bill. On 4th September, 2016, 'B' retires his
acceptance, receiving a rebate of 15% p.a. Pass
entries in the books of 'A'.
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18. fHfcRaa Qe & QT THIHIOT IR J99 QR :

8
3
(@) TS 7 FqEE A A
(i) T 2,30,000
(i) A 1,00,000
(iii) o 2,00,000
(b) & T B 50,000
(c) & A fska (AT < 20,000) 35,000
(d) 9T B G 20,000
(€) ofad fopxmrn 3,000
() o< HHE 13,000
(g) ¥aT W = 10,000
(h) =% Toir oIg 50,000

Show the effect of following transactions on the
accounting equation :

3

(a) Manoj started business with :

(i) Cash 2,30,000

(i) Goods 1,00,000

(iii) Building 2,00,000
(b) He purchased goods for cash 50,000
(c) He sold goods for cash (costing ¥20,000) 35,000
(d) Salary paid by him 20,000
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(e) Rent outstanding 3,000
(f) Commission received by him 13,000
(g) Depreciation charged on building 10,000
(h) Fresh capital introduced 50,000
HAYAT
OR

B s Fo H Taw # FHfaad el & S
wfaftedr it

i

2017

1 3 10% %1 AR 8 & @& X 40,000 & AR
foeile & a0 fhan T

2 S e @1 O atv| e mn R = 9o
% 1,000 @i

3 3B e &1 e A B T ] 34,000, B
1 IOr MueN #X R&ar @

4 S R T % fT S @ 4,000 e T
5 T AT B I B PRI A 9% | % 2,000

6 3T 39 a9 fHT W BT & gEE § 7 10,000
T a9 | Flad Bl

7 A FFER W 10% B T T FHeR &
% 50,0001

8 I FHHARAT &l T 50,000 A 37 2B
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Enter the following transactions in the Journal
of Hari & Co. :

Date
2017
1 April
2 April
3 April
4 April
S April
6 April

7 April

8 April

1 3P,

Purchased goods from Vinod of the list price
of T 40,000 at 10% trade discount.

Returned goods to Vinod of the list price of
% 1,000.

Paid cash to Vinod ¥ 34,000 in full
settlement of his account.

Withdrawn from Bank for Private use ¥ 4,000.
Paid salary to Motilal by cheque I 2,000.

Out of the rent paid this year ¥ 10,000 is
related to next year.

Provide 10% depreciation on furniture
costing ¥ 50,000.

Salary due to clerks ¥ 50,000.

2013, T & 7 T 60,000 FH i HI

ﬁo‘qn 1 3FER, 2013 & % 18,000 & WiT & HA
ﬁv‘mwaﬂwizooogﬁaﬂﬁﬁ@ﬁgm 1 TR,
2015 H, 1 3, 2013 & #9 BT T @i H

ERE % BRI 2 27,000 F 99 far mEm 1 e,
2017, F T @ic T 64,000 ¥ TlEr, 3@ ag H
1 FFCER, 2013 & TS T Wi & T 10,000 H 99
ﬁquTm%ErﬁﬁzﬁaT@rgraww%aﬂT
U /A TSl BT H 31-03-2017 T & WiC

grdr -1yl 8

P.T.O.
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On 1st April, 2013, a company purchased a
plant for ¥ 60,000. On 1st October in the same
year, it purchased additional plant worth ¥ 18,000
and spend ¥ 2,000 on its erection. On 1st
October, 2015, the plant purchased on 1st
April, 2013 having become obsolete, is sold off
for ¥ 27,000. On 1st January, 2017, fresh plant
was purchased for ¥ 64,000 and on the same
date the plant purchased on 1st October, 2013
was sold for ¥ 10,000. Depreciation is provided
at 10% p.a. on original cost method on 31st
March each year. Show the plant account upto
31-3-2017.

3TeE
OR

‘T H ofufied T UGSk #1 8 ? 3Ee oW SR
BTl i e Bl

What is 'written down value method of
Depreciation' ? Explain the merits and demerits

of written down value method.
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20. =T qEUC $ @M § WHT, TR & ARE

1008

q -8 G AR foed & @ # 8
faeer TR & | am@e ¥
it 50,000
e 10,000
AR X e 24,000 | 16,000
6% T 10,000
FOT W/ A 300
BETY 3,000
g9 ®O1 & [T qEuE 1,000
ESEl 6,000
Tefaar 1-4-2012 16,700
FYX 10,000
CE 7,500
e 20,000
A e gl 4,500
MTH 5,000
GREl 12,000
feptrn 8,000
CeRiER 600
T AR O 60,000 | 1,16,000
et 2,000 1,000
ICEINE] 4,500
g 2,600
o it 2,000
T fqum A} Y fqum 10,000 8,000
FHE 1,500
2,06,100 | 2,06,100

P.T.O.
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(i) WHEER W 5% AR FYRX | 10% 8Tl
(i) 1,200 I B 3T&T 2|

(i) T SHERA 30 SF, 2013 & GO 89 a ¥
a% @ feam T R

(iv) T8 & A 30 [, 2013 T AT T B
(v) TERI T 5% %l & § god ®°1 TEgH SR
(vi) 31 #2013 % T & g9 19,400 oI

From the following trial balance of Raj Kumar,
you are required to prepare Trading & Profit &
Loss A/c for the year ended on 31st March,
2013 and Balance Sheet as at that date :
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Particulars Dr. (?) Cr. (?)
Capital 50,000
Drawings 10,000
Debtors & Creditors 24,000 16,000
6% Loan 10,000
Interest on Loan 300
Cash 3,000
Provision for Bad Debts 1,000
Wages 6,000
Stock on 1-4-2012 16,700
Computer 10,000
Bank 7,500
Furniture 20,000
Carriage outward 4,500
Carriage inward 5,000
Salaries 12,000
Rent 8,000
Bad Debts 600
Purchases and Sales 60,000 | 1,16,000
Returns 2,000 1,000
Advertising 4,500
Discount 2,600
Insurance Premium 2,000
B/R & B/P 10,000 8,000
Commission 1,500

2,06,100 | 2,06,100

P.T.O.
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Adjustments :

(i) Depreciate furniture by 5% and computers
by 10%.

(ii) Salary outstanding X 1,200.

(iii) Insurance is paid for the year ending 30th

June, 2013.
(iv) Wages have been paid upto 30th June,
2013.

(v) Provision for bad debts @ 5% on debtors.
(vi) Stock on 31st March, 2013 was X 19,400.

YT

OR
-2l EraT &7 8T & 7 I SEFhal AN qe<d
N qU B HUNED HI Dl GEFd q AH-8M G B
&Y ST

What is Profit & Loss A/c ? What is the need
and importance of Profit & Loss A/c ? Give the
format of Profit & Loss Account with imaginary
figures.




